NAME :

BP-307

anary 3 Mathemaﬂcs 2924
Emi of Year Prachce Paper

() pamE:

CLASS :

Section A

‘50

Questions 1 to 6 carry 2 marks each For each question four options are glven
One of them is the correct answer. Make your.choice (1,2, 3 or 4) Shade the
correct oval {1, 2, 3 o 4) on the @pflcal Answer Sheet (OAS). All disgrams are
not drawn to seale: {12 marks)

1. mmn&gm&mﬁnmmmamw

o
)

(8)
@)

908 cm

980 cm

9008 e

S800. erti { 3

2. Find the:sum of 1999 and 40071,

"
@)
o

@

5000
5990:

6000

6990 ( )

3. Roy Bought a packet of stickers: for $11.30 and had $4.50 left. How
muich roney did e have before hie bought the packet of stickers?

()
(2}
(€]

(4

$6.80,
$7 20

$15.20
$15.80 : { .
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Sgroupsof _______ =4x10

@ 6
@) 40 - ( )

" \Which of the fallowing marked angles is an obtuse angle?

(n l |

@
®

@




The: Iength ofa rectanguramard isi&cm; its b;ea&th is S'em. What isthe B

perimeter of: twe such cards placed side by: srde?

1y

(2]

3)
(4y

26 cm
32 om
42 cm
47 dm

ch

END OF SEGTION A
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Section B

Guestions 7 to 12 camy 1 mark each. Show your working clearly in the
space and write the orfect answers in the spaces provided. For

questions which require units, give your answers. in the units stated. All

diagrams are-not drawn to scale. (6 marks)

7. What is two thousand and eleven in nurnerals?

Ans:

8. 607 9= _

Ans:

1 Do natwrite

in this space

BP-310



8. $48.70and |

10.

| make $100.
What is the mlsémg yalde i the box?

Ans: B

Do rigt write

In-this space

actual time heistopped: swimming?

Rabert: swari in'the evening and stopped swiirding at the time
shown on-the clock. The clock was 10:minutes slow. What was.the.

B ‘ll 2 i'
S10 2
49 5
o

Ans:

.

BP-311
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11, The number line below is marked at equal intervals. What fraction | ?'olggt;z:;i
is.shown by the arrow? Express your answer in its simplestform. |

| |
| |
o 6

8

) —

Ans:

12, Whatis the quotientwhen 403 is divided by 62

Ans:

Total marks forquestions Tto12 | / '65




Questions 13 fo 22 carry 2 marks each. Show your working clearly and
wiite your answers. in the spaces provided. For questishs which regquire
units, give your answers in the units stated. All diagrams are not drawn
to.scale. _ (20 rivarks)

13. Study the number pattern below. Wiiat s the missing number in
the box?

100, . 150, 350, 400, | 2 | 650, 850

Ans:

14, Whatis the total volume of water in the beakers stiown below?
Exprass youranswer i, litres and millilitres.

N 500mi] N 500wl Ny __500 ral]

Ans: £ mi

Do Higt write
in this space

BP~313



- 15,

Line-ABds drawn in & square grid. Draw a line perpendicular to fine |

AB that passes.through point: C.

16.

Harold bought 4 boxes of pens. There were 10 pens in each box.
He repacked all the pens:equally-inta 8 bags. How many pens were:

fhere ineach biag?

Ans:

Da not write
in this space

BP~314




17.

the square i 6 om. What'is the area of the fi igure?

A
G em

r

Aris:, _cf?

18.

In the diagram below, the: letters N, H, ¥ and T are drawn in &
square grid. Name the letter that contiihs Both paraliel and |
perpendicular lines, :

Ards:

The: figuire beicw is mgde upof4 rdenhcal squares. Bach side of | Donotwrte
| In.this-spéce

19.

Arranige the following fractions in order. Begin with the greatest.

7

1 3
10 3: 5

Cojee

A‘!}s;;___m Y . o
greatest

10

BP~315



20.

The bar graph below shows the number of Primagy 1, Primary 2

and Primary 3:students'wha visited the Art:galiery in a week. Study
thie graphi carefully and anger guestions 20(a} arid 20(b).

‘Students Who Vigited the Art Gallery

Primary 3 f

- ®Girls

Primary 2 [

Grade Level

Prifmary 1 [asassans

0 50 100 150 200 250 300 350

(ay ‘Which grade level has the highest number of students who
yisited the ATt gallery?

Ans; Pritiary

| Do not write
in-this space

(5) VWhatwas the total number of boys wha visited the Art
gallery?

Aps:

"

BP-316



1. Find-the missing numeraor and denominator in the: boxes below |

for{ayand (b)." -

s o]

N S B

Ang: (a)_

(b3,

22, An aetoplarie left' Sitigapors. at 22 40 and reached Hong Kong at
03:05 the foliewiing day. How fong was the flight?
EXpréss yoilr answer i hours and minutes.

Ans:._ i |

Total marks. for questions 22 to 35

END OF SECTION B

12
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Section €

ForQuiestions 23 to 26, show your working clearly and writeyﬁa;‘;answeas;.

in the spaces provided: The number of marks available Is shown in
brackets [] at the end of each questicn of part-question. All diagrams are
fot drawn fo scale. {12 marks)

23. Mdm Goh bought some cherries. She gave 450 g of cherries to her
neighbours. The remaining cherries were packed equally into 6
- packets. Each packet had 620 g of cherries. What was the mass
of the cherries Mdm Goh bought? '
Give your danswer in kilogramis and grams,

ans:_ @

BP-318

| Do netwrite

in this space
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4. MF Qng beughta fan and & photo frame. The fan cost $22.80, The Doniot write
fan eost $10.80 more than the photo frame. He gave he cashier al” this space
$50 note How much change did Mr Ong recéive? '

AR e I

14




BP-320

Dongt-write

25. Adam has thrice as many cards a$ Ravi, Xiao Jie has twige as i this sprace
many-cards as.Adam. Xiae Jie has:280 more cards than Ravi, How -
many-cards does Adam have?

Ans; | . [31}

18



28,

Toothpicks and ﬁlots are used to form figures: that feflow a paitern.
The first three:fi figures are shown below. :

o e
Figure 1 Figure2 Figurs 3

figure.

Figuré Number | Number ofdots | Number of foothpicks
—— — 5

2 4 5

— e

Jj_b,nctfwrii?
in:this spacé

~ The table stiows the number of toothptcks and dots used for each | -

1
(a) Complete the tablefor Figure 4.
(b} Which Figure Number will have a total of 21 toothpicks?

Ansi(b)__ (2l

END OF PAPER.

18
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SCHOOL :  CATHOLIC HIGH SCHOOL
LEVEL :  PRIMARY 3

SUBJECT :  MATH

TERM  :  PRACTICE PAPER 2024

[ Q1)
a2)
Q3)
Qd)
E5)
Q)
a7y 2011

Q8) | 5463

Q9) |$51.30
Q10) | 5:40 P.M,
Qi) | 2

3

G b = e o -

Q12)] 67
Q13) | 600

Q14) [ 1L 250 mi
Q15) |

Q18) |4x10=40
8x5=40
Ans:5

| Q17} | 12 x 12 = 144cm2

Pgl




[af9)]

.I‘I

[Q19) | 2
A 1 !

|~

3
'5_1

Wl

3
EJ

(=)

G20 |

a) Primary 1
b) 600

Q21)

a)28
b)12

“[az2)

4h25min’

Q23)

620 x 6 = 3720
3720 + 450 = 4170

| =4'kg 170g

Qz4)

$22.80 — $10.80 = $12.00
$22.80 + $12.00 = $34.80
$50.00 - $34.80 = $15.20

Q25)

5u =280

{1u =56

56 x 3 =168

Qz6)

a)9

| b)10

Pg2

BP-324



BP-~431

CATHOLIC HIGH SCHOOL
END-OF-YEAR EXAMINATION (2024)

PRIMARY THREE
MATHEMATICS
Name : ( )
Class - :Primary 3___ , ‘
Date : 22 October 2024 SECTION A /

Total time : 1 h 30 min
. . SECTION B 26
26 questions -

S0 marks SECTION C e

Parenf's-signature : _

Total Marks P 50

INSTRUCTIONS TO CANDIDATES
Do not turn over this page untif you are fold to do so.

Follow all instructions carefully.
Answer all questions.
Shade your answers in the Optical Answer Sheet (OAS) provided.

This booklet:consists of 16 printed pages.




Section &,

110 8 Garry 2 tarkseach. For each question, faur optians are-given..
1 is the cofrect answer: Make your cheice (1, 2,3 gr 4), Shade the

corfest oval (1, 2, 3 or 4) on the Optical Answer Sheet (OAS). All:diagrams dre

not-drawn to seals.

(12.marks}

1. Express 6 t8:miin mil

(1] 808 me -
@) 680me
(3] BOOEme
@) B8800'me

2. Find'the product of 322 and 7.

4 2254

3. Bigroupsof___ =4%®

2 |Gesonto the neXt-page)

BP-432



Which one of the following fractions. is greater than %— ?

(1

@)

(3)

(4)

~ilea

o

Figutes A, B, C and D are made 1
have the same perimetar?

1ch

(1)
@)
(3
(4}

1em

p of 1-6m squarés. Which two figures

AandB
Band €

G and O

Dand A

( b

3

(Go on to the next page)

BP-433
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ins from Her pouch and colinted them. Which of the
sl et be taken dutfrom her pouch?

(1) 3045
@ $075
@ 085

% (G0 1 the-Hiext page)



Section B
Questions 7 to 12 carry 1 mark each. Show your working clearly in the
space and write the correct answers in the spaces provided. For
questions which require units, give your answers in the units stated. All

Bo-not wrile
Inihis spaca

diagrams are not drawn to scale. (6 marks)
7. Write seven thousand and forty-nine in numerals,

Ans:
8. The figure below is drawn in a square grid. Study the figure below,

C

A B/-

(I

Name a line perperidicular to CD.

Ans:

5 (Go-on to thie hext page)

BP-435
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9. Whatis fhe mass of the bag of polatoes on the welghing scale? Donoturite
Express your answerin kg and . S ' |

Anst, ko 9

40,  Peter completed his:homework in the affernoon at the time: shown
‘on the clock. Whttirne did’Peter complete his homewark?
Give:yourahswer it 24-hour cloek.

Ans:

6 {G6 oh'te the fiext paye)
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11, ${ 72 |- $2518 = §74.90 Do not write

i this $pace

Ans: §

2. The following figure is drawn in a square grid. Narvie all the acute
angles in the figure.

Ca 7 —
|
e\

Ans: 2

Total marks forquestions 7 to 12

7 (Ge on lothe next page)




Questions 13 1o 22 carry 2 migrks each. Shiok four werkmg ciearlv and |
write your answars in
units, give your answers in thé units’stated. All diagrams &re ot drawn |

to- sea,ler {ﬁomarks); :

Spaces pr@wded For.gu

stions which require

Thie bargraph shows the number of muffins énd cookies sold by a |
three days. Study the graph carefully and answer

shigp: over
question 13¢a) and 13(b}:

Mutfing and -Qoek‘res:so!_‘d.wer three days

-'

Dy SN ——

o e, e o o

vy v o, mhan

N ae 3 5 .
BB pLH T E p .o e H 3 E RN pUEELl

g 10 20 30 40 50 se
Amounf sold overthree days

(@) ©On which daydidthe shop-sell more muffins than cookies?

Ans: () Day

B R R S I | @Muffins.
Lay2 " | BCooKIES

BP-438

T rigk write
inihis: 5pace

(b) Howritany cookies did the stiop sell over three days?

Ans: (b

(Garon bo the ext page)
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14, What is the remainder when 737 is divided by 77

Do not wiite:
In'this space

Aps: __ - -~ ‘

15.  Study the number pattern below. What is the missing number in
the box? '

356, 1386, 1368, 2366, 2376, ? 3386, 4386, 4398

Ans; J z

Find the value of 7‘-1;.2- + % Express your answer 4s a fraction in
its simplest form.

1 6'-

Ans: . :]

9 (Go on fo the next page)
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7. “Uine KB is drawn on-a square grid. Oraw a Tie parallel to ling AB | Dorotwite
ang pagses through peint G e

1. Find the missing fliferatoi-and denominator in the baxes below
Tor (&) and (9):

by

10 tuanto e next page)
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18, Jimmywentfor a run in the park. His watch was 15 minutes slow. "9-1’1'36*5“*;"‘6
The run lasted 135 min. According to his watch, he stopped | " V¢ SPEcE
running at 8.05 p.m. What was the actual time he started his run?

Ans: , p.fn.
20.

i8-2034. What is the sum of the two numbers?

The difference between two numbers is 1406. The greater number

Ans: _

11 (Go on to the next page)
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21.  Xin L had 11 m of string. She eut'thie ‘string info 9 equal pieces ik
" with 263 om left. Whetwas the length of eachpiece of stririg?

anss . _om||

22. 153 story books were shared among Alvin; Bala and Caleb, Alvir |
received tivice as many:story beoks as Bala, Caleb received fewer
story books than Bala. |

Each of the statements below is either fue; Taise or not possible |
to tell from the: information given. For each statemerit, put a tick
{(yinthe gorrect columin.

“Not pessiple | |

iy Stelement | True | False | otell

| (@) Awin hias iiore storpbooks
fhan Caleb.

[(5) Caleb received ofily &
story books:

Tewl marksfor questions 13:6:22

END OF SEGTION B

v {@0 on o the nextpage)
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Section C ' Da not write

) i this space.

For Questions 23 {026, show your working clearly and write your answers
in the spaces provided. The number of marks available is shown in
brackets [ ] at the end of each question of part-question. Al diagrams are
not drawn to scale, (12 marks)

23.  Anne paid $720for a pair of shoes and a belt. The pair of shoes
_ €ost 4 times as much as.the belt. She also bought a shirt which
cost $45 more than the belt: How much did the shirt cost?

Ans: %3]
—

13 (Go on to the next page)




24,

Pete. had 103? marbtes Ken had 1527 marbles. Pete then bought Do not write:
some mote marbles: Ken hiad 285 fewer migrbles than Pete fa the n this space
end. How: maﬂy marbles did Pete buy? |

BP~444

as_ gl |

14 {Soon tetis hext page)
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25.  Thefigure below fs made up of 3 rectangle and 3 identical squares. | 6 not wite
The length of the rectangle is 27 cm. Find the area of each square. s space

27 cm

F N

Ans: (31

15 (Go on tothe next page)
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6. Lihesand dots-aré-used to form the following figutes that follew a ] .Pj :ﬂswfﬂe
patierr: The firstthree figures are-shown below, in this, space

V

Figure 1 Figure 2 Figure 3

Thie tabie shiows the: number of lines-and dots used for each figure.

[ Figure Number | Number of dots | Numberof lines
—— o

- 1% 4

(d) Complele the tablefor Figure4.
{b) Which Figtits Number will Fave a totalof 51 dots?

Ang:{(b). _ 2

END-OF PAPER

16



SCHOOL
LEVEL
SUBJECT
TERM

CATHOLIC HIGH SCHOOL
PRIMARY 3

MATH

2024 SA2

_:Q1) -

Q2)

Q3)

Q4)

Qs)

G N = DN b W

Q6)

Q7) | 7049

Q8) |DE/CD

Q9) | 2kg 700g

Q10) | 1357

Q11) | $100.08 -

Q12) | <a,e,c

Q13) | a)
b)120

Q14)| 2

Q15) | 3376

Q16) | %

Qi7y|_

Pgl

BP-~447




Q18) | a)12
_ | b)55
Q19) | 8.05+15=8.20
8.20 - 2h 15 min
=6.05 p.m.
Q20 | 2034 - 1406 = 628

2034 + 628 = 2662

BP~448

Q21)

1100 - 263 = 837
837+9=93cm

Q22)

a} true
b) Not possibie to tel}

Qz3)

720 +5=144
144 x 4 = 576
576 +144 =720
144 + 45 = $189

Q24)

1527 - 1037 = 490
490 +285 =775

Qz25)

27+3=9
9x9=81cm2

| aze)

a)12

| b)25

Pg2



